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	Polar misalignment
	Erreur d’alignement polaire


	When the polar axis of an equatorial mount - the "instrumental pole" - is misaligned, the following occurs:

· a drift in declination (declination error)

· a drift in right ascension (hour angle error), as if the drive rate were wrong

· a field rotation.


	Lorsque l’axe polaire d’une monture équatoriale (le « pôle instrumental ») présente un défaut d’alignement , on observe :
· une dérive en déclinaison (erreur en déclinaison)

· une dérive en ascension droite (erreur en angle horaire), comme si la vitesse du moteur était incorrecte

· une rotation du champ.


	The present document focuses on establishing mathematical approximations for the hour angle and declination errors, the misalignment being considered as small. The field rotation is also addressed.

Observing the hour angle and declination errors (such as the difference between these at different times or more) allows to determine the elevation and azimuth error. The link between the maths and some classical polar alignment methods (Bigourdan, Challis, King, Rambaut) is also made.


	Ce document s’attache à établir les approximations mathématiques pour les erreurs en angle horaire et en déclinaison, le défaut d’alignement étant supposé petit. La rotation de champ est abordée également.
Observer les erreurs en angle horaire et en déclinaison (comme la différence de ces erreurs à différents instants) permet de déterminer l’erreur en azimut et en élévation. Le lien est fait avec quelques méthodes d’alignement polaire classiques (Bigourdan, Challis, King, Rambaut).


	Note that this is only a partial picture for the general modeling of mount pointing errors: it ignores all further aspects of geometric/flexure/refraction-induced errors.


	Il faut noter que ceci n’est qu’une partie de la modélisation générale des erreurs de pointage d’un télescope : on n’aborde pas les erreurs dues à la géométrie/flexion/réfraction.


	Notations used
	Notations utilisées
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	declination
	déclinaison
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	latitude of observation site
	latitude du lieu d’observation
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	polar coordinate, equivalent to declination in instrument referential
	coordonnée polaire, équivalente à la déclinaison dans le référentiel de l’instrument
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	polar coordinate, equivalent to hour angle in instrument referential
	coordonnée polaire, équivalente à l’angle horaire dans le référentiel de l’instrument

	
[image: image5.wmf]g


	amount of polar alignment error (the distance between the true and instrumental pole)
	erreur d’alignement polaire (distance entre le pôle vrai et le pôle instrumental)
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	rotation angle in relation with instrumental pole hour angle
	angle de rotation, en relation avec l’angle horaire du pôle instrumental
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	declination error due to polar misalignment; this is the correction to be applied to telescope readout in declination
	erreur en déclinaison, due au défaut d’alignement; c’est la correction à apporter à la valeur indiquée en déclinaison par le contrôleur de la monture
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	hour angle/right ascension error due to polar misalignment; this is the correction to be applied to telescope readout in hour angle
	erreur en angle horaire/ascension droite, due au défaut d’alignement; c’est la correction à apporter à la valeur indiquée en angle horaire par le contrôleur de la monture

	da
	azimuth error, equals MA
[image: image9.wmf]f

sec


	erreur en azimut, égale à MA
[image: image10.wmf]f

sec



	di
	elevation error, equals ME
	erreur en élévation, égale à ME

	DX
	eastward drift
	dérive ouest-est

	DY
	northward drift
	dérive sud-nord

	H
	hour angle
	angle horaire

	MA
	misalignment of the polar axis to the left or right of the true pole; for northern hemisphere, positive if right (ie east)of due north; for the southern hemisphere, positive if right of due south
	défaut d’alignement de l’axe polaire, à gauche ou à droite du pôle réel ; dans l’hémisphère nord, positif si à droite (à l’est) du nord vrai ; dans l’hémisphère sud, positif si à droite du sud vrai

	ME
	vertical misalignment of the polar axis; for northern hemisphere, positive if below true pole; for southern hemisphere, positive if above true pole
	défaut d’alignement  de l’axe polaire en élévation ; dans l’hémisphère nord, positif si en dessous du pôle vrai ; dans l’hémisphère sud, positif si au-dessus

	All angles in radians (180°=
[image: image11.wmf]p

 radians).
	Tous les angles en radians (180°=
[image: image12.wmf]p

 radians).


	Geometry
	Géométrie


	The misalignment can be characterized by:

· a rotation of the equatorial system clockwise around the polar axis with angle 
[image: image13.wmf]q


· a rotation of this new coordinate system around the X axis by 
[image: image14.wmf]g


where

· 
[image: image15.wmf]q

 is a measure of the hour angle of the instrumental pole (add 90° to obtain hour angle for instrumental pole)
· 
[image: image16.wmf]g

 is the amount of polar alignment error (the distance between the true and instrumental pole)
	L’erreur d’alignement peut être caractérisée par :

· une rotation horlogique du système équatorial autour de l’axe polaire, avec pour angle 
[image: image17.wmf]q


· une rotation du nouveau système de coordonnées autour de l’axe X d’un angle 
[image: image18.wmf]g


où
· 
[image: image19.wmf]q

 est une mesure de l’angle horaire du pôle instrumental (ajouter 90° pour obtenir l’angle horaire du pôle instrumental)

· 
[image: image20.wmf]g

 est l’erreur d’alignement polaire (la distance entre le pôle vrai et le pôle instrumental)


[image: image21.emf]
	(graphics from reference R1)
	(graphique provenant de la Référence R1)


	As a result, the transformation matrix is a product of rotations:
	La matrice de transformation est ainsi un produit de rotations :
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	and finally we have:
	et finalement, on a :
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(Eq. 1)
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 is the declination that the telescope optical axis is actually pointing to; it differs from the declination that the telescope readout shows (if any).
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 est la déclinaison vers laquelle l’axe optique du télescope pointe réellement; elle diffère de la déclinaison qu’afficherait éventuellement le contrôleur de la monture.
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 is (ignoring sideral local time) the right ascension that the telescope optical axis is actually pointing to; it differs from the right ascension that the telescope readout would show.
	
[image: image27.wmf]x

 est (au temps sidéral local près) l’ascension droite vers laquelle l’axe optique du télescope pointe réellement; elle diffère de la valeur qu’afficherait éventuellement le contrôleur de la monture.


	Declination drift
	Dérive en déclinaison


	The last row of the above matrix equality  REF _Ref193095846 \h 
(Eq. 1) is:
	La dernière ligne de l’égalité matricielle (Eq. 1) REF _Ref193095846 \h 
 est :
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	which simplifies as:
	 qui se simplifie en :
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	As we are dealing with small deviations, we have 
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, and we may thus use as approximations:
	Puisque nous traitons le cas des petites déviations, on a
[image: image31.wmf]1
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, et on peut donc utiliser comme approximations :
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	and introducing 
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 (the declination error) as 
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 being the (small) declination error induced by the polar misalignment, we have:
	 et, en introduisant 
[image: image36.wmf]d

D

 (l’erreur en déclinaison) comme 
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 étant la (petite) erreur en déclinaison résultant du défaut d’alignement polaire, on a :
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	We obtain that :
	On obtient que :
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(Eq. 2)
	
[image: image41.wmf]d

D

 is the correction to be applied to telescope readout in declination.
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 est la correction à appliquer à la valeur en déclinaison indiquée par la monture.


	Introducing:
	En introduisant :
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(Eq. 3)
	we have, expressed in function of di/ME and da/MA:
	on a, exprimé en fonction de di/ME et da/MA :



[image: image44.wmf]H

da

H

di

H

MA

H

ME

H

v

H

u

rror

northwarde

rift

northwardd

rror

northwarde

sin

cos

cos

sin

cos

sin

cos

f

+

=

+

=

-

=

-

=


(Eq. 4)
	The northward error depends on H, the hour angle, which itself is dependent on time. So if one measures the drift DY of a star in declination between two distinct times a and b, this provides one relation between di and da (the suffix is used to designate time a and time b):
	L’erreur vers le Nord dépend de H, l’angle horaire, qui lui-même dépend du temps. Ansi, si on mesure la dérive DY d’une étoile en déclinaison entre deux instants a et b, ceci fournit une relation entre di et da (le suffixe désigne les instants a et b) :
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(Eq. 5)
	The positive direction for Y is South to North.
	La direction positive pour Y est Sud vers Nord.


	The (instantaneous) northward drift speed is obtained by taking the derivative of the northward drift expression 
(Eq. 4
) and so:
	La vitesse (instantanée) de dérive vers le Nord est obtenue en prenant la dérivée de l’expression 
(Eq. 4
) et ainsi :
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(Eq. 6)
	where 
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 is the derivative of the hour angle with respect to time.

We can illustrate this by simplifying this result as follows, and expressing the drift speed in units per minute of time.
	avec 
[image: image49.wmf]H

&

 étant la dérivée de l’angle horaire par rapport au temps.

On peut illustrer en simplifiant ce résultat comme suit, notant que, en exprimant la vitesse de drift en unités par minute de temps :
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	so that, given a misalignment 
[image: image51.wmf]g

 of 10 arcminutes, the drift speed in DEC will be at maximum 0.0436 arcminutes per minute of time.
	ainsi, pour un écart 
[image: image52.wmf]g

 vis à vis du pôle de 10 arcminutes, on aura une vitesse de dérive en DEC de maximum 0.0436 minutes d’arc par minute de temps.


	Right ascension drift
	Dérive en ascension droite


	Dividing the first row of the matrix equality  REF _Ref193095846 \h 
(Eq. 1) by the second row, we obtain:
	En divisant la première ligne  REF _Ref193095846 \h 
(Eq. 1) de l’égalité matricielle par la seconde, on obtient :
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	As we are dealing with small deviations, ie
[image: image54.wmf]1
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, we may thus use as approximations:
	Puisque nous traitons seulement les petits défauts d’alignement, soit 
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, on peut donc utiliser:
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	and introducing 
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 being the (small) hour angle error induced by the polar misalignment, we have:
	et en introduisant 
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 étant la (faible) erreur en angle horaire introduite par le défaut d’alignement polaire, on a :
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	And we obtain that:
	Et on obtient :
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[image: image65.wmf]h
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 is the correction to be applied to telescope readout in hour angle.
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 est la correction à appliquer à la valeur en angle horaire indiquée par la monture.


	When measuring angular distances, we need to apply the cosine of the latitude, which means that (dealing with small angular separations):
	Puisque nous mesurons des distances angulaires, il faut encore appliquer le cosinus de la latitude, ce qui veut dire (puisque nous traitons le cas de petites séparations angulaires) :
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(Eq. 7)
	And so, expressed in function of da/MA and di/ME:
	Et ainsi, exprimé en fonction de da/MA et di/ME :
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(Eq. 8)
	The eastward error depends on H, the hour angle, which itself is dependent on time. So if one monitors the drift DX of a star in right ascension between two distinct times a and b, this provides one relation between di and da (the suffix is used to designate time a and time b):
	L’erreur vers l’Est dépend de H, l’angle horaire, qui lui-même dépend du temps. Ainsi si on mesure le décalage DX d’une étoile en ascension droite entre deux moments distincts a et b, ceci fournit une relation entre di et da (le suffixe est utilisé pour désigner les instants a et b) :
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(Eq. 9)
	The positive direction for X is west to east.
	La direction positive pour X est Ouest vers Est.


	The (instantaneous) eastward drift speed is obtained by taking the derivative of the eastward drift expression (Eq. 8):
	La vitesse de dérive (instantanée) vers l’Est est obtenue en prenant la dérivée de l’expression relative à la dérive en est (Eq. 8):
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	where 
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 is the derivative of the hour angle with respect to time.

We can illustrate this by simplifying this result as follows, and expressing the drift speed in units per minute of time.
	avec 
[image: image72.wmf]H
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 étant la dérivée de l’angle horaire par rapport au temps.

On peut illustrer en simplifiant ce résultat comme suit, notant que, en exprimant la vitesse de drift en unités par minute de temps :
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	so that, given a misalignment 
[image: image74.wmf]g

 of 10 arcminutes, the drift speed in RA will be at maximum 0.0436 arcminutes per minute of time, to be multiplied by the sine of the declination – which is itself < 1 by definition.
	ainsi, pour un écart 
[image: image75.wmf]g

 vis à vis du pôle de 10 arcminutes, on aura une vitesse de dérive en AD de maximum 0.0436 minutes d’arc par minute de temps, à multiplier par le sinus de la déclinaison –qui est par définition < 1.


	Application 1 - Bigourdan's method
	Application 1 – La méthode de Bigourdan


	Consider the northward (declination) drift speed above (Eq. 6). The drift spped is hereafyer expressed as minutes of arc per minute of time.
	Considérons la vitesse de dérive vers le Nord (déclinaison) (Eq. 6). On exprime ici la vitesse en unités d’arc par minute de temps.


	At the meridian, we have H=0, the sine is 0 so the drift speed is solely related to MA/da, the error in azimuth.
	Au méridien, on a H=0, le sinus vaut donc 0 et la vitesse de dérive est uniquement fonction de MA/da, l’erreur en azimut.
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	At H=-6 hours (east) or H=6 hours(west), that is H=
[image: image77.wmf]2
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 or 
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, the cosine is 0 and so the drift speed is solely related to ME/di, the error in elevation.
	En H=-6 heures (est) ou H=6 heures(ouest), soit en H=
[image: image79.wmf]2
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 or 
[image: image80.wmf]2

p

+

, the cosinus est 0 et la vitesse de dérive est uniquement fonction de ME/di, l’erreur en élévation.
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	This justifies the Bigourdan method, where the declination drift is observed and corrections are in turn applied to azimuth then elevation: 

· step1: watching a star drifting at meridian and correcting in azimuth till no further declination drift is observed – in the northern hemisphere, if the star at the east drifts south (speed is negative) and thus moves away from the pole, the mount is pointing too far east (da>0)
· step2: watching a star at -6 or +6 Hours (so east or west) and adjusting elevation till no further declination drift is observed – in the northern hemisphere, if the star drifts south (speed is negative), the mount is pointing too low (di>0).


	Ceci justifie la méthode de Bigourdan, où on observe la dérive en déclinaison et où les corrections sont appliquées en azimut d’abord puis en élévation :

· étape1 : observer la dérive d’une étoile au méridien et corriger l’azimut jusqu’à élimination de la dérive en déclinaison – dans l’hémisphère nord, si l’étoile dérive vers le Sud (vitesse négative) et donc s’éloigne du pôle, la monture pointe trop à l’Est (da>0)
· étape2 : observer la dérive d’une étoile à -6 ou +6 heures (donc à l’Est ou à l’Ouest) et corriger l’élévation jusqu’à élimination de la dérive en déclinaison – dans l’hémisphère nord, si l’étoile observée à l’Est dérive vers le Sud (vitesse négative), la monture pointe trop bas (di > 0).



	Application 2 - Challis' method (1879)
	Application 2 – La méthode de Challis (1879)


	In this method, one measures the northward (declination) drift only. Two measurements are required to determine the polar misalignment: two stars over a certain time interval or one star over two time intervals (illustrated below).
	Dans cette méthode, on mesure la seule dérive vers le nord (déclinaison). Deux mesures sont nécessaires pour déduire le défaut d’alignement polaire : deux étoiles sur un intervalle de temps donné ou une seule et même étoile sur deux intervalles de temps (illustré ci-après).


	From the equation above for the northward drift (Eq. 2), one can write, for star at times a and b:
	De l’équation ci-dessus pour la dérive vers le nord (Eq. 2), on peut déduire, pour une étoile observée aux instants a et b :
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	and similarly for the same star at times c and d (subscript denotes the time):
	et de façon similaire pour la même étoile, aux instants c et d (l’indice se réfère aux instants) :
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	Measuring the drifts over the time intervals allows thus to determine u and v (2 linear equations with 2 unknowns) and hence MA/da/ME/di using (Eq. 3).
	En mesurant les dérives sur les intervalles de temps, il est possible de déterminer u et v (2 équations à 2 inconnues) et ensuite MA/da/ME/di en utilisant (Eq. 3).


	Note that the same principle may be used by monitoring two star over one time interval.
	Notons que le même principe peut être utilisé en suivant deux étoiles sur un intervalle de temps.


Example (matching Reference R1 5.5.2.1)

star: alpha Boo

RA:14h15m49s

DEC:19°10'29"

time a: 2001-May-24, 21H00 (
[image: image85.wmf]a

H

=5.99662377 radians)
time b: 21H50 (
[image: image86.wmf]b

H

=6.21538725 radians)
drift a to b: +34.52 arcsec (note : difference in sign with Reference R1, which names “drift” the declination error, hence the opposite)
time c: 21H50 (
[image: image87.wmf]c

H

=6.21538725 radians)
time d: 22H23 (
[image: image88.wmf]d

H

=6.35977114 radians)
drift c to d: +65.88 arcsec (note : difference in sign with Reference R1, which names “drift” the declination error, hence the opposite)
latitude: 52°09'20.32"N
longitude: 0°0'38.36"E

One obtains:
u=1614 arcsec, hence di=1614 arcsec (the instrumental pole is below the pole; it must be raised)
v=450 arcsec, hence da=-733 arcsec (the instrumental pole is west of the pole; it must be rotated east)
	A Excel sheet is provided below.
	Un fichier Excel est disponible ci-après.



[image: image89.emf]C:\Documents and  Settings\phe\Desktop\poleerror\Challis_method.xls


	Application 3 - King's method (1902)
	Application 3 – La méthode de King (1902)


	In this method, one measures the northward (declination) and eastward (hour angle) drifts of a star near the Pole. One measurement suffices to derive the polar misalignment.
	Dans cette méthode, on mesure la dérive vers le Nord (déclinaison) et vers l’Est (angle horaire) pour une étoile proche du Pôle. Une seule mesure suffit à déduire l’erreur d’alignement.


	As we are close to the Pole, we have 
[image: image90.wmf]2
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 and so its sine is close to 1; the eastward error (Eq. 7) simplifies to:
	Puisque nous sommes à proximité du Pôle, on a 
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 et que le sinus est donc proche de 1; l’erreur en est (Eq. 7) se simplifie en :
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	while the northward error (Eq. 2) remains:
	tandis que l’erreur vers le nord (Eq. 2) reste donnée par :
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	When deriving each expression to obtain the respective drift speeds, one notes that the amplitude of the drift speed is constant, being 
[image: image94.wmf]g

.
	En dérivant chaque expression de façon à obtenir la vitesse de dérive, on observe que l’amplitude de la vitesse de dérive est constante et vaut 
[image: image95.wmf]g

.


	Let us designate by DX and DY the drift respectively in hour angle and declination, over a time interval (from time a to time b): we have thus (subscript denotes the time, b after a)
	Notons par DX et DY la dérive respectivement en angle horaire et en déclinaison sur un laps de temps (de l’instant a à l’instant b), on a donc (l’indice désigne l’instant b suivant l’instant a) :
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	From these, it is easily deduced that:
	De ces dernières équations, on déduit facilement que :
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	and, as we have 
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	da/MA/di/ME are easily to be computed from (Eq. 5) and (Eq. 9).

	da/MA/di/ME se déduisent facilement de (Eq. 5) et (Eq. 9).
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Example:
Latitude: +47.5°

Longitude: -7.601°

Date: 2001:09:30

Time: 22:04:21

Time zone: cest

Observing period: 1371s

Rightascension: 18h36m56.30s
DX: 1.80 arcsec

DY: 11.60 arcsec

One obtains:

di=91 arcsec (the instrumental pole is below the pole - it must be raised)

da=-110 arcsec (the instrumental pole is west of the pole - it must be rotated east)

	Application 4 - Rambaut's method (1893)
	Application 4 - La méthode de Rambaut (1983)


	In this method, one measures the northward (declination) and eastward (hour angle) drifts of a star. One measurement suffices to derive the polar misalignment. The method will fail at the celestial equator, as the sine of the declination is zero. It can be considered as a generalization of King's method to declination further away from the pole.
	Dans cette méthode, on mesure la dérive vers le Nord (déclinaison) et vers l’Est (angle horaire) pour une étoile donnée. Une seule mesure suffit à déterminer le défaut d’alignement polaire. La méthode échouera à l’équateur céleste, puisque le sinus de la déclinaison y est nul. Elle peut être considérée comme une généralisation de la méthode de King aux déclinaisons éloignées du pôle.


	The eastward error (Eq. 7) is:
	L’erreur vers l’est (Eq. 7) est:
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	while the northward error (Eq. 2) is:
	tandis que celle vers le nord (Eq. 2) est :
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	Let us designate by DX and DY the drift respectively in hour angle and declination, over a time interval (from time a to time b): we have thus:
(subscript denotes the time, b after a)


	Désignons par DX et DY les dérives respectivement en angle horaire et en déclinaison sur un intervalle de temps (de l’instant a à l’instant b) : on a ainsi :
(l’indice indique l’instant, b suivant a)
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	This can be re-expressed as :
	Ce qui peut être réécrit :
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	From these we obtain, as we have 
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	De ceci on tire, puisque l’on a 
[image: image110.wmf]a

b

H

H

-

<<1, impliquant 
[image: image111.wmf]2

2

sin

a

b

a

b

H

H

H

H

-

»

-

 :



[image: image112.wmf]a

b

H

H

DY

DX

-

+

=

2

2

2

sin

d

g


	da/MA and di/ME are easily computed from (Eq. 5) and (Eq. 9):
	da/MA et di/ME sont simples à déduire de (Eq. 5) et (Eq. 9) :
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Example:

Latitude: +47.5°

Longitude: -7.601°

Date: 2001:09:30

Time: 22:04:21

Time zone: cest

Observing period: 1371s

Rightascension: 18h36m56.30s

Declination: 38°47m01.0s
DX: 1.80 arcsec

DY: -11.60 arcsec

One obtains:

di=-56 arcsec (the instrumental pole is above the pole - it must be lowered)

da=156 arcsec (the instrumental pole is east of the pole - it must be rotated west)

	Field Rotation
	Rotation de champ


	If guiding is accurate, the drift for the guide star is compensated, and all objects from the image are subject to the same translation.

However drift is not uniform across the image (as it varies with declination and hour angle), so if the axis is misaligned, a rotation of the image about the guide star will also take place.

This rotation increases with the distance from the object to the guide star.

From spherical trigonometry, we have:


	Avec un guidage précis, la dérive pour l’étoile guide est compensée et tous les objets de l’image sont soumis à la même translation.
Cependant, la dérive n’est pas uniforme partout dans l’image (elle varie avec déclinaison et angle horaire), et donc si l’axe polaire n’est pas correctement aligné, une rotation de l’image autour de l’étoile guide a lieu également.

Cette rotation augmente avec la distance de l’objet par rapport à l’étoile guide.

De par la trigonométrie sphérique, on a :
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	Assuming as before 
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 and using (Eq. 2), we have:


	En supposant comme précédemment que
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 et utilisant (Eq. 2), on obtient :



[image: image118.wmf])

sin(

sin

cos

cos

H

-

-

=

q

d

g

d

V


	And thus:


	Et donc :
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	We concentrate here on declinations which are sufficiently far from the North Pole, more precisely those characterized by:


	En se concentrant sur le cas des déclinaisons suffisamment loin du Pôle Nord, et plus précisément celles caractérisées par :



[image: image120.wmf]g

d

d

d

>>

=

cot

sin

cos


	So that this can be simplified to:


	On peut simplifier en :
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	Looking for the (small) rotation increase from time a to b, this can be expressed as (assuming 
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	On s’intéresse à l’augmentation (faible) de rotation entre les instants a et b, ceci peut s’exprimer (en supposant 
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	Let us consider the maximum rotation; this will happen, for a star/object which is separated from the guide star by an angular distance noted hereafter 
[image: image125.wmf]L

, when the sine is 1, and the displacement will be given by:


	Considérons la rotation maximale : elle aura lieu, pour une étoile/un objet séparé de l’étoile guide d’une distance angulaire  notée ci-après 
[image: image126.wmf]L

, lorsque le sinus sera 1 et le déplacement sera donné par :
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	which can be rewritten as:


	qui peut se réécrire :
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	Suppose we use a CCD device which, coupled to a given telescope, provides a pixel angular size 
[image: image129.wmf]p

, the effect of the rotation will not be noticeable when:


	Imaginons que nous utilisions une caméra CCD qui, associée à un télescope donné, procure une taille angulaire des pixels 
[image: image130.wmf]p

, l’effet de la rotation ne sera pas discernable lorsque :
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	Which can be re-expressed as a constraint on the polar alignment error 
[image: image132.wmf]g

: we must have (all angles in radians):


	Ce qui peut se réexprimer comme une contrainte sur l’erreur d’alignement polaire 
[image: image133.wmf]g

: on doit avoir (tous les angles en radians) : 
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	This can be rewritten using more common units as:


	Ce qui peut se réécrire en utilisant des unités plus courantes:
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(Eq. 10)

	where:

· 
[image: image136.wmf]g

 in arcminutes

· 
[image: image137.wmf]p

 in arcseconds

· 
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 in minutes of time

· 
[image: image139.wmf]L

 in degrees

Reminder: 

the relationship between 
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, 
[image: image141.wmf]d

 (pixel size in microns) and 
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 (focal distance in mm) is:
	avec :

· 
[image: image143.wmf]g

 en arcminutes

· 
[image: image144.wmf]p

 en arcsecondes

· 
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 en minutes de temps

· 
[image: image146.wmf]L

 en degrés

Rappel :

la relation entre 
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, 
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 (la taille du pixel en microns) et 
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 (la distance focale en mm) est :
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	Example (at celestial equator):


[image: image151.wmf]g

 - the misalignment from Pole - must be smaller than 29 arcminutes for


[image: image152.wmf]p

 = 2 arcseconds – the angle covered by one pixel
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 = 15 minutes of observation time
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 = 1° - the distance between the guide star and the observed object


	Exemple (à l’équateur céleste):
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 - l’erreur d’alignement polaire - doit être inférieure à 29 arcminutes pour

[image: image156.wmf]p

 = 2 arcsecondes – la distance angulaire couverte par un pixel
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 = 1° - la distance entre l’étoile guide et l’objet observé




	Useful readings and links
	Lectures intéressantes et liens


R1. Matrix method for coordinate transformation - Toshimi Taki
http://www.asahi-net.or.jp/~zs3t-tk/matrix/matrix.htm
(the reference for this document)

R2. TPoint - Telescope Pointing - Patrick Wallace
http://www.tpsoft.demon.co.uk/pointing.htm
(table 1 in link above and equations above for 
[image: image159.wmf]d

D

and 
[image: image160.wmf]h

D

are fully in agreement)

R3. MESXXI - la théorie, les équations - Jean-Claude Durand
http://pagesperso-orange.fr/mesxxi.durand/theorie.html
R4. The atmosphere as a prism - Markus Wildi
http://leq.one-arcsec.org/
R5. Publications of the Brayebrook observatory

http://www.brayebrookobservatory.org/BrayObsWebSite/HOMEPAGE/BRAYOBS%20PUBLICATIONS.html#treediag
R6. Polar axis alignment requirements for astronomical photography - R.N. Hook

http://adsabs.harvard.edu/abs/1989JBAA...99...19H
R7. Program to calculate effect of polar axis misalignment - Michael Covington
http://www.covingtoninnovations.com/astro/astrosoft.html
http://www.covingtoninnovations.com/astro/Polar.html
(java applet)

R8. Stellar drift - Rob Johnson

http://www.whim.org/nebula/math/drift.html
R9. Astronomical algorithms - Jean Meeus

Willmann-Bell

ISBN 978-0943396613
R10. To adjust the Polar Axis of an Equatorial Telescope for Photographic Purposes. 

Monthly Notices of the Royal Astronomical Society, 54:85-90, December 1893. - Rambaut, A. A.
http://adsabs.harvard.edu/full/1893MNRAS..54...85R
	Summary
	Résumé


	When the polar axis of an equatorial mount - the "instrumental pole" - is misaligned, a drift in declination (declination error) and a drift in right ascension (hour angle error) occur.

Measuring these drifts over time allows to determine elevation and azimuth error.
The declination drift can be expressed, for small misalignments, as:


	Quand l'axe polaire d'une monture équatoriale - le "pôle instrumental" - n'est pas parfaitement aligné avec le Pôle, une dérive en déclinaison et en ascension droite apparaissent.

Mesurer ces dérives permet de déterminer l'erreur d'alignement en élévation et en azimut.

Pour de petites erreurs d'alignement, la dérive en déclinaison peut s'exprimer par:
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	The hour angle/RA drift can be expressed as:


	La dérive en ascension droite peut s'écrire:





[image: image162.wmf]))

cos

(cos

cos

)

sin

(sin

(

sin

a

b

a

b

H

H

da

H

H

di

DX

-

-

-

=

f

d


	where:

· the suffix is used to designate time a and time b

· 
[image: image163.wmf]H

 is the hour angle of the observed star
· 
[image: image164.wmf]d

 is the declination of the observed star
· di is the elevation error (NH: positive if the polar axis must be raised)

· da is the azimuth error (NH: positive if the polar axis must be moved west)

· 
[image: image165.wmf]f

 is the latitude

· DX is positive towards east, DY positive towards north

	où :

· le suffixe est utilisé pour désigner les instants a et b

· 
[image: image166.wmf]H

 est l’angle horaire de l’étoile observée

· 
[image: image167.wmf]d

 est la déclinaison de l’étoile observée

· di est l’erreur en élévation (HN : positive si l’axe polaire doit être levé)
· da est l’erreur en azimut (HN : positive si l’axe horaire doit être tourné vers l’ouest)

· 
[image: image168.wmf]f

 est la latitude

· DX est compté positivement vers l’est, DY positivement vers le nord




	Even if guiding is accurate, a rotation of the image about the guide star also takes place.

This rotation increases with the distance from the object to the guide star.

If we use a CCD device which, coupled to a given telescope, provides a pixel angular size 
[image: image169.wmf]p

, the effect of the rotation will not be noticeable when:


	Même avec un guidage précis, une rotation de l’image autour de l’étoile guide a lieu également. Cette rotation augmente avec la distance de l’objet par rapport à l’étoile-guide.

Si on utilise une caméra CCD qui, couplée à un télescope donné, procure une taille angulaire de pixel
[image: image170.wmf]p

, l’effet de la rotation ne sera pas observable lorsque :
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	where:

· 
[image: image172.wmf]g

 in arcminutes is the polar alignment error

· 
[image: image173.wmf]p

 in arcseconds is the angular pixel size

· 
[image: image174.wmf]a
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 in minutes of time is the recording time

· 
[image: image175.wmf]L

 in degrees is the distance between the guide star and the object

· 
[image: image176.wmf]d

 is the declination

	avec :

· 
[image: image177.wmf]g

 en arcminutes est ‘erreur d’alignement polaire
· 
[image: image178.wmf]p

 en arcsecondes est la taille angulaire d’un pixel
· 
[image: image179.wmf]a
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 en minutes de temps est la durée de l’observation

· 
[image: image180.wmf]L

 en degrés est la distance enre l’étoile guide et l’objet

· 
[image: image181.wmf]d

 est la déclinaison



	Appendix A 
Hour Angle/Declination and Azimuth/Altitude
	Appendice A 
Angle Horaire/Déclinaison et Azimut/Altitude


	We use here the following notations and conventions:
	On utilise ici les notations et conventions suivantes :


	AH
	hour angle, 0 when crossing southern meridian, 6H (90°) at West 
	angle horaire, 0 au passage au méridien sud, 6H (90°) à l’ouest

	DEC
	declination
	déclinaison

	AZ
	azimuth, 0° at due South, 180° at due North
	azimut, compté à partir du sud (0°) et 180° au nord

	ALT
	altitude
	altitude

	LAT
	latitude
	latitude


	The relationships are given by:
	Les relations suivantes sont d’application :
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	and
	et
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	As well as: 
	Ainsi que :
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	These relations allow to easily switch from hour angle/declination coordinates to azimuth/altitude and vice versa
	Ces relations permettent de passer des coordonnées angle horaire/déclinaison vers azimut/altitude et vice versa.


	One needs to make use of
	On utilisera le fait que :
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	to cope with possible ambiguities
	pour lever les ambiguités éventuelles.
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Challis

		Two Star Declination Drift Method for Determination of Polar Axis Misalignment - Challis

				Original by Toshimi Taki, January 5, 2002; revised P. Henrotay 2008

						Input data

						Output

		Reference Date						May 24, 2001

								37035

		Reference Julian Day						2452053.5

		Option (1=yes, 0=no)

		Use atmospheric refraction ?		0

		Observation

		Observation Location		Longitude		5		50		0		E

		(degrees, minutes, seconds)		Latitude		50		35		0		N

				Longitude		(radian)		-0.101810873

				Latitude		(radian)		0.8828457133

		Observed Data

		Name of Star 1 (optional)

		Position of Star		RA		13		30		16

				Decl.		47		8		58

		Observed Data

		Name of Star 2 (optional)

		Position of Star		RA		13		30		16

				Decl.		47		8		58

				RA		(radian)		3.5354552881		3.5354552881

				Decl.		(radian)		0.822913046		0.822913046

		Date (UT)						April 12, 2008		April 12, 2008

		Time 1 (UT)		ta				21:48:00		21:48:00

		Time 2 (UT)		tb				21:52:04		21:56:09

		Declination Drift				(arcsec)		4.32		8.48

						(radian)		-0.000020944		-0.0000411122

		Calculation

		Julian Day		JD				2454568.5		2454568.5

		T						0.0827789185		0.0827789185

		Mean Sidereal Time at Greenwich 0h UT				(degree)		3080.5654329949		3080.5654329949

						(degree)		200.5654329949		200.5654329949

						(radian)		3.5005271714		3.5005271714

		Time 1 (UT)		ta		(radian)		5.707226654		5.707226654

		Time 2 (UT)		ta		(radian)		5.7249708348		5.7427877375

		Hour Angle at ta		Ha		(radian)		5.7897352796		5.7897352796

		Hour Angle at tb		Ha		(radian)		5.8075280423		5.8253937261

		sin h at ta						0.9466894646		0.9466894646

		sin h at tb						0.9502684357		0.9537397957

		Altitude at ta		ha		(radian)		1.2427992059		1.2427992059

		Altitude at tb		hb		(radian)		1.2540967072		1.2654396879

		Atmospheric Refraction at ta		Ra		(radian)		0		0

		Atmospheric Refraction at tb		Rb		(radian)		0		0

		Multiplier to u						0.0082879986		0.0163267966

		Multiplier to v						-0.0157443047		-0.0316989873

		constant				(radian)		0.000020944		0.0000411122

		Multiplier to u						1		1

		Multiplier to v						-1.8996509939		-1.9415313427

		constant				(radian)		0.0025270216		0.0025180812

		Polar Misalignment		u		(radian)		-0.0029325453

				v		(radian)		-0.0002134728

		Results - Polar Axis Misalignment

		Polar Misalignment		u		(arcsec)		-604.9

				v		(arcsec)		-44.0

				di		(arcmin)		-10.0813482152

				da		(arcmin)		1.1557748837



&R&F, &A



Taki Data (reference)

		Two Star Declination Drift Method for Determination of Polar Axis Misalignment - Challis

				Original by Toshimi Taki, January 5, 2002; revised P. Henrotay 2008

						Input data

						Output

		Reference Date						May 24, 2001

								37035

		Reference Julian Day						2452053.5

		Option (1=yes, 0=no)

		Use atmospheric refraction ?		0

		Observation

		Observation Location		Longitude		0		0		38.36		E

		(degrees, minutes, seconds)		Latitude		52		9		20.32		N

				Longitude		(radian)		-0.0001859745

				Latitude		(radian)		0.9102877191

		Observed Data

		Name of Star 1 (optional)		alpha Boo

		Position of Star		RA		14		15		49

				Decl.		19		19		29

		Observed Data

		Name of Star 2 (optional)		alpha Boo

		Position of Star		RA		14		15		49

				Decl.		19		19		29

				RA		(radian)		3.7342046567		3.7342046567

				Decl.		(radian)		0.3372800298		0.3372800298

		Date (UT)						May 24, 2001		May 24, 2001

		Time 1 (UT)		ta				21:00:00		21:50:00

		Time 2 (UT)		tb				21:50:00		22:23:00

		Declination Drift				(arcsec)		34.52		65.88

						(radian)		-0.0001673577		-0.0003193953

		Calculation

		Julian Day		JD				2452053.5		2452053.5

		T						0.0139219713		0.0139219713

		Mean Sidereal Time at Greenwich 0h UT				(degree)		601.6623042018		601.6623042018

						(degree)		241.6623042018		241.6623042018

						(radian)		4.2178028863		4.2178028863

		Time 1 (UT)		ta		(radian)		5.4977871438		5.7159533003

		Time 2 (UT)		ta		(radian)		5.7159533003		5.8599429636

		Hour Angle at ta		Ha		(radian)		5.9966237907		6.2153872664

		Hour Angle at tb		Ha		(radian)		6.2153872664		6.3597711603

		sin h at ta						0.8166653072		0.8389440361

		sin h at tb						0.8389440361		0.8385770638

		Altitude at ta		ha		(radian)		0.9556089211		0.9953399769

		Altitude at tb		hb		(radian)		0.9953399769		0.9946660153

		Atmospheric Refraction at ta		Ra		(radian)		0		0

		Atmospheric Refraction at tb		Rb		(radian)		0		0

		Multiplier to u						0.0384811422		-0.0006338563

		Multiplier to v						-0.2149095224		-0.1442571203

		constant				(radian)		0.0001673577		0.0003193953

		Multiplier to u						1		1

		Multiplier to v						-5.584801027		227.5864633477

		constant				(radian)		0.004349083		-0.5038921884

		Polar Misalignment		u		(radian)		0.0078240567

				v		(radian)		0.0021796909

		Results - Polar Axis Misalignment

		Polar Misalignment		u		(arcsec)		1613.8

				v		(arcsec)		449.6

				di		(arcmin)		26.8971255226

				da		(arcmin)		-12.2135263085
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